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Time : Three hours

10.
11.

12.

PART A — (10 x 2 = 20-marks)
Answer any TEN questions.
What is Branch Adjustment Account?
Aavar sMGa1_ (D& Saé®E crenDIed eTemen’?
What is goods in transit?
aufl @enL_ FT&EG, TETDTE GTaTEu?
What is Departmental Accounting?
glovpaurl Earés erenmred ereme?
What is apportionment of common expenses?
AurgEbeesemers LIFTEM eremmed eretmen?
What is Instalment Purchase System?
geuanants GSTETPSE (PEND GTETDHTED GTTGT?
What is Repossession?
LOMI_L_EnLD GTGTHITE) GTEITEH 7.
What is Sacrificing Ratio?
Fuwirs s eranpmed eremen?
What is Revaluation Account?
SIS O SanTéE eTennIed eTemen?

What do you man by insolvency of a partner?

@ s Lraflufler QBmig iy LD 2108 SHSS W) ?

What is Joint Life Policy?

Qe 2w srUSH erampmed eremen?

What is Executor’s Loan Account?
BlenpCeudmILIGUT SLGIT HEMTE(S; GTETDTE) GTeITes?

What is Hire Purchase Stock?

UL en&s GaTaTpged FradlmLiL Greifrgprrs'{) areman?

Maximum : 75 marks
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13.

14.

PART B — (b X 5 = 25 marks)

Answer any FIVE questions.
What are the objects of Branch Accounts?
Slenens sams@sailen CHr&ssmSHeT LTeneu?

Anu & Co. opened a branch at Chennai. All the branch expenses
are paid by head office. From the following show the Branch

Account.

Rs.

Opening stock at the branch 3,000
Goods supplied to branch 48,000
Cash sent to Branch for :

Salaries : . 2,400

Telephone 200

Rent 720

Petty expenses 300
Remittance received from the branch 55,000
Closing stock 2,500
Balance of petty cash 20

ey & Car. Qeamenamuier o Saer Spbss. Jwarsg Haers
QFa|sEHD SMmOMLILSESSTL CeIEsULLL g). Waelmb edlurhiseT
Qaran(h fleners s @ SWilss.
€.
Hevemuigierer Aam_s85& sr&E 3,000
Senend @ aflSs FT&HGSH6T 48,000

eﬂsméﬂei;@' S Qrréaib :

e LEDG 2,400
QzraneiGLSSE 200
QUL EN&ES 720
Hevraveny QFw6eHEHES 300
&anerufedmHg Qubm Gsrens 55,000
QndF Frés 2,500
Soveveny Qrmrés @) mLiL 20
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24.

S died on 1.5.2012 under the terms of partnership deed, the.

executors of deceased partners were entitled to be paid out : |

(a) Capital to his credit at the date of death

(b) His share of reserve at the date of the last Balance Sheet

(c) His share of profits to the date of his death on the basis of
average profits of the last three accounting years

(d) By way of goodwill his share of total profits for the
preceding three accounting years. Three year profits were
2009 — Rs. 10,450, 2010 — Rs. 9,800, 2011 — Rs. 11,250.
Prepare S’s capital A/c transferring amount due to
S’s Executors Alc.

2T LOMD 6rav FLFEl a@BD &l Lrameny eNwrurrsSen @eomu
BLLigmer perpCu 3:2 eramp eldgsdld LATHsa. seuGleum(m
(L webuT 31-d sansCapgmarn (wgsdapert. 31.12.2011-6
Qaursefier QY Blanawd @My Denemomy -

Qurmliyser €. Qersg|Ga6r €.
upue sLaBCart 5,000 Qprésibd 7,500
&Ly Bl 7,500 upue sLemeflsdar 12,500
(PSEOSET : FT&E LY 5,000

QI : 22,500 QupSrid 25,000

6T 15,000

50,000 50,000

1.5.2012-60 eTad ST, Fal LTETEHL <SLEIGTLILL  STaOLDTET

gl Lrafllen HlevpCoupmuicunés Qsauss Ceuaiy wene :

(1) arewrer Cegluiler @euflar curellds QMmE@ED WG

(=) srewrar Geduller sLbs AmUY Hows GHUGer sriiyseaiod
Geur Limki;

(8) sLps oy sanssram(saiean syrefl @eoru SigliuemL e
Qaui srewwrer Gadl cuarulevmen Georugdod Qe Likis

(F) &LBS epem samésremn Haeilsn CloTss Garugdd Gouf Lnig,
BOQUWIT anrédlDers, @) bepeTprarT() G)eorLkisaT ;
2009 - ¢m. 10,450, 2010 - ¢5.9,800, 2011 — ¢m. 11,250.
erev-eir (g samh@ Swrflg amh Cgrensulenar era-ar
BleppCoupmiLieuir sarsHHE LTHDeLd.

Explain the various accounting treatment of Joint Life Policy.

, Qavenr il Tl oL sansdd eswur@sd uoGam empaamer

el G s.
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22.

23.

31.12.2011 2 L6 (pigeuenL LD <,eTiq D&ETeT eNUfhISeneT LITL| 6reiD
@ ewrumrf Gemaumuorm el sdlermmi.

Npuena : QareTps : G
glanm-1 70,000 slanp-1 43,000
glenp-11 30,000 gianp-11 25,000

el 1.1.11 FLOLIGTLD 5,400
slenp-1 3,400 sLflay 2,200
glanp-11 1,100 - efleTbumid 5,800

sL_ameflser 23,000 euidlg gL LewTid 120

SiQeues sempaser 1,080 erpgil Gumr@mlser 2,700
QUITL,aN& 1,800 &l 10,000
EINIRIC) 2,400

Simnsaar g 10% Csuwrerd @#&@s. eurprésier . 300.
sLameflaer Bg 10% eulLsHD@ 256G THUOESS. sr&SmUy e
31.12.11-6 geoom I — . 4,000 wpmid guewp II — e, 1,680. Copandiws
Aujiuser Qsrar® geneurfl elwrury, @eru Bl L saméE swirflés.
Qeveysdr aflpLemen gL udled Lidlrei.

Differentiate between Hire Purchase System and Instalment
Purchase System.

aUTLenss Qardiipsed pep PN saumears CSTETPSD (PaD
< dlweupern CaumuBSEIs.

R and S were carrying on partnership business sharing profits
and losses in the ratio of 3:2 respectively. They closed their

books of account every year on 315t Dec. Their Balance Sheet was
as follows on 31.12.2011.

Liabilities Rs. Assets Rs.
Sundry creditors 5,000 Cash 7,500
Reserve fund 7,500 Sundry debtors 12,500
Capitals : Stock 5,000
R 22,500 Machinery 25,000
S 15,000
50,000 50,000
6 60522/BYA2C/CYA2A

15.

16.

17

18.

Mixed goods were purchased for Rs. 1,00,000. They are
A — 1000 units, B — 2000 units and C — 2400 units whose selling
price per unit are Rs. 20, Rs. 22.50 and Rs. 25 respectively. All
categories yield the same rate of profit. Calculate the purchase
price per unit of them.

SOMEUUITST  FTHGSHET (. l,O0,000—ﬁ)@ QUMMAISULL L &]. ey
g — 1000 we@gsdr, 19 — 2000 go@sear wond § - 2400 Si@ser
Qeveusaiien e dlear alpuenar ellenew pannCw em. 20, 5. 22.50,
wOHMD . 25 Swarsgl AfesEpd g0 6ldls @orub m_(Heug).
@ eausatten e Dwdhsrear Qarearpse ellanaeanil &amsd () s.

Mega purchased a car on hire purchase system. The total cash
price of the car is Rs. 15,980. Payable Rs. 4,000 down and in
three instalment of Rs. 6,000, Rs. 5,000 and Rs. 2,000 at the end
of first, second and third years respectively. Interest charged is
5% per annum. Calculate interest for each year.

Cusr arLamss Qsrarpsd pepuld @ & eurmdlani. @lger
Qurgs Qrrés edene ¢p. 15,980. Qequsgib cuams 2 Lar Qsrasns
. 4,000 wpmibd eperm geuamamserrs ¢h. 6,000, ep. 5,000 wpmibd
eh. 2,000 erem (pepGw (WPSOMD, @rewTLrd WLOHOHID  ePETHITLD
< airig pFHuded. el g semrssl(Heug amrieDE@ 5% geubeum(m ey 6
cully SeTsSl ().

Arul and Babu share profits in the ratio of 2:3. Chandru is
admitted and new ratio between them is 2:5:3. Chandru brings
Rs. 3,000 towards goodwill. Pass Journal Entries.

QBT LHHDL Uy Qerukisamer 2:3 cHllgsdd LS THST. &FHSIH
craueur GergsLiulLrt wHnd Qeirseflar Lfwu elflgn 2:5:3.
BOOUWGESTS s6EI 5. 3,000 CQaram® eubsrT. @GHLUCULH ey
SGS.

A and B were partners sharing profits and losses in 3:2. On
1.7.11 their balance sheet was as under :

Liabilities Rs. Assets Rs.
Creditors 2,00,000 Stock 1,20,000
Capitals : Debtors 1,50,000
A 50,000 Furniture 6,000
B 30,000 Cash 4,000
2,80,000 2,80,000

The firm was dissolved and the assets were realised Rs. 1,60,000.
Expenses were Rs. 5,000. A’s private estate could pay only
Rs. 10,000. B had no surplus. Show the Ledger Accounts to close
the books.
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19.

20.

Debtors on 1.1.11

o oomb G BACUrT Qeru Bl kisamar 3:2 s LSHTHSeT.
1.7.11-6 Qeurseflen @)L Hlenevd @l emeumLommy :
QurmyliLser . Qerggissar .
sLatpCer  2,00,000 ersfmoy | 1,20,000

(PSOEHET : sLammeflgar  1,50,000
A 50,000 wwpswdr 6,000

B 30,000 Qyrésb 4,000
2,80,000 2,80,000

@oflnean smosstiultg. Coeib Osrsgssear . 1,60,000
paliulLar. Gewaygar ¢p. 5,000. r-ufer safluul L Qergdle @) mHa
5. 10,000 wLLGCL Cegss Quaibd. G-wWLb 2ufl ggLildameo.
FHEmeT (1plg&E CUCTL(H& SaTdH@&Ha6T S (Hs.

How do you calculate goodwill in partner’s admission?

BHGUWeny gl Lrefluder Cergsedlen GLmpg) ereucurm sanrés Hialm?
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

A head office invoices goods to its branch at cost plus 50%.
Branch remits all cash received to the head office and all
expenses are met by head office. From the following details
prepare necessary accounts on stock and debtors systems to
show the profit or loss at the branch : _

Rs. Rs.

Stock on 1.1.11 (invoice price) 27,900 Goods returned by debtors 3,600

20,400 Goods returned by Branch 4,500

Goods invoiced to Branch Shortage of stock 1,350
(at invoice price) 1,563,000 Discount allowed 600
Cash sales 75,000 Expenses at the branch 16,200
Credit sales 93,000 Bad debts 600

Cash collected from debtors 91,200
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R HOVMLUIGD ST ElDATES FTEGE®ET BiL_SssEIL6 50% sy
S@ULdpg.  Heaer  grer Qupd  Smarsg  CQrTESHS@meTD
SMOEISSSILLD Qe Sz g Coad  Semearsg Q&mma;@m
SOLELWESSTO  FHHULRSEDG. Gemeu@pd eSluphsdr Qarea(),
Sleverudlen @erub srenr FrSSHLY WLHNL SLeTaflseT ApenpuGa
Cgenouwimen saurd@Gaar W és.

1.111-e spadlmuy (@Lmiy 27,900 sLenmeflser Slmuiduw 3,600
allenav) FT&5G

1.1.11-6 sLarreflser

Elewaré@ e sréE
(@Lriy eleneouden)

Qprés eSlhuener

L6 N HLIene

20,400 &leper Sl sraE 4,500

gr&SmLL Gammey 1,350
1,53,000 iafss aulLib 600

75,000 Hleneruler Qgaveyser 16,200
93,000 euyrésL_em 600

sLamaflseflmHg Qupp 91,200

Qyr&sLD

21.

The following information 1s given by Babu, a merchant, for the
year ended 31.12.2011.

Rs. Rs.

Sales : Purchases

Dept-I 70,000 Dept-1 43,000

Dept-II 30,000 Dept-II 25,000
Stock : 1.1.11 Salary . 5,400

Dept-1 3,400 Commission 2,200

Dept-I1 1,100 Advertisement 5,800
Debtors 23,000 Bank charges 120
Office furniture 1,080 Stationery ' 2,700
Rent 1,800 Wages 10,000
Insurance 2,400

Provide depreciation at 10% on furniture. Bad debts Rs. 300
create 10% provision for discount on debtors. Stock position on
31.12.11. Dept-I Rs. 4,000 and Dept-II Rs. 1,680. From the above
information prepare the departmental trading and profit and
loss account. Expenses are apportioned on the basis of sales.
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